

Bid Opening Date: December 6, 2017

Lexington-Fayette Urban County Government

Lexington, Kentucky Horse Capital of the World

Division of Central Purchasing

Date of Issue: November 16, 2017

Bid Opening Time: 2:00 PM

INVITATION TO BID #177-2017 Site Restoration Sevices

Address:	200 East Main Street, 3rd Floor, Room 338, Lexington, Kentucky 40507						
Type of Bid:	Price Contract						
Pre Bid Meeting: Address:	N/A N/A	Pre Bid Time:	N/A				
		office of the Division of Central Purchasing, 200 East Main Street, Lexing 17. Bids must be <u>received</u> by the above-mentioned date and time. Mailed					
		Division of Central Purchasing 200 East Main Street, Room 338 Lexington, KY 40507, (859) 258-3320					
above. Bids that a	re not <mark>delive</mark> r	ity Government assumes no responsibility for bids that are not address and to the Division of Central Purchasing by the stated time and darry name and address, bid invitation number, and the name of the bid on	ate will be rejected. All bids				
Bids are to include a	ll shipping costs	to the point of delivery located at: 125 Lisle Industrial Avenue/Various L	ocations				
Bid Security Require	d:Y	es X No Cashier Check, Certified Check, Bid Bond (Personal checks and con	npany checks will not be acceptable).				
Performance Bond R	equired:Y	es X_No					
Bid Specif	ications Met _	Check One: Exceptions to Bid Specifications. Exceptions shall be itemized and attached to bid proposal submitted.	Proposed Delivery:days after acceptance of bid.				
		Lexington-Fayette Urban County Government may be using Procurement ments. Will you accept Procurement Cards?	Cards to purchase goods				
Sc	ubmitted by:	FILB Services LLC					
		115 MACArthur Cf.					
		FIRM Name 115 MARATHUR C. Address Dich 167 40356 City, State & Zip					
Bid must	be signed:						
(original si	gnature)	Signature of Authorized Company Representative - Title					
		Representative's Name (Typed or printed) 859-221-5183 859-885-4124					
		859.221-5183 859.885-4124 Area Code - Phone - Extension Fax # C-DL 617 Paul.c TKB office egm	10.10-				
		E-Mail Address					

	TILD SV AFFIDAVII
pe	Comes the Affiant,
1.	His/her name is Rip-12. Morrand and he/she is the individual submitting the bid or is the authorized representative of 7KB Serving LCC.
	the entity submitting the bid (hereinafter referred to as "Bidder")
2.	Bidder will pay all taxes and fees, which are owed to the Lexington-Fayette Urban County Government at the time the bid is submitted, prior to award of the contract and will maintain a "current" status in regard to those taxes and fees during the life of the contract.
3.	Bidder will obtain a Lexington-Fayette Urban County Government business license, if applicable, prior to award of the contract.
4.	Bidder has authorized the Division of Central Purchasing to verify the above-mentioned information with the Division of Revenue and to disclose to the Urban County Council that taxes and/or fees are delinquent or that a business license has not been obtained.
5.	Bidder has not knowingly violated any provision of the campaign finance laws of the Commonwealth of Kentucky within the past five (5) years and the award of a contract to the Bidder will not violate any provision of the campaign finance laws of the Commonwealth.
6.	Bidder has not knowingly violated any provision of Chapter 25 of the Lexington-Fayette Urban County Government Code of Ordinances, known as "Ethics Act."
7.	Bidder acknowledges that "knowingly" for purposes of this Affidavit means, with respect to conduct or to circumstances described by a statute or ordinance defining an offense, that a person is aware or should have been aware that his conduct is of that nature or that the circumstance exists.
	Further, Affiant sayeth naught.
ST	NUNTY OF Fayethe
CC	PUNTY OF Fay & Ha
by	The foregoing instrument was subscribed, sworn to and acknowledged before me 3 on this the day
of .	My Commission expires: 413-2019 CAITLIN MORAN NOTARY PUBLIC TAST AT LARGE, KENTUCKY ID # 531922 IVMIS SION EXPIRES APRIL 13, 2019
	CALLUN MORAN NOTARY PUBLIC, STATE AT LARGE

Please refer to Section II. Bid Conditions, Item "U" prior to completing this form.

L. GREEN PROCUREMENT

A. ENERGY

The Lexington-Fayette Urban County Government is committed to protecting our environment and being fiscally responsible to our citizens.

The Lexington-Fayette Urban County Government mandates the use of Energy Star compliant products if they are available in the marketplace (go to www.Energystar.gov). If these products are available, but not submitted in your pricing, your bid will be rejected as non-compliant.

ENERGY STAR is a government program that offers businesses and consumers energy-efficient solutions, making it easy to save money while protecting the environment for future generations.

Key Benefits

These products use 25 to 50% less energy
Reduced energy costs without compromising quality or performance
Reduced air pollution because fewer fossil fuels are burned
Significant return on investment
Extended product life and decreased maintenance

B. GREEN SEAL CERTIFIED PRODUCTS

The Lexington-Fayette Urban County Government is also committed to using other environmentally friendly products that do not negatively impact our environment. Green Seal is a non-profit organization devoted to environmental standard setting, product certification, and public education.

Go to <u>www.Greenseal.org</u> to find available certified products. These products will have a reduced impact on the environment and on human health. The products to be used must be pre-approved by the LFUCG prior to commencement of any work in any LFUCG facility. If a Green Seal product is not available, the LFUCG must provide a signed waiver to use an alternate product. Please provide information on the Green Seal products being used with your bid response.

C. GREEN COMMUNITY

The Lexington-Fayette Urban County Government (LFUCG) serves as a principal, along with the University of Kentucky and Fayette County Public Schools, in the Bluegrass Partnership for a Green Community. The Purchasing Team component of the Partnership collaborates on economy of scale purchasing that promotes and enhances environmental initiatives. Specifically, when applicable, each principal is interested in obtaining best value products and/or services which promote environment initiatives via solicitations and awards from the other principals.

If your company is the successful bidder on this Invitation For Bid, do you agree to extend the same product/service pricing to the other principals of the Bluegrass Partnership for a Green Community (i.e. University of Kentucky and Fayette County Schools) if requested?

Yes	 No

EQUAL OPPORTUNITY AGREEMENT

The Law

- Title VII of the Civil Rights Act of 1964 (amended 1972) states that it is unlawful for an employer to discriminate in employment because of race, color, religion, sex, age (40-70 years) or national origin.
- Executive Order No. 11246 on Nondiscrimination under Federal contract prohibits employment discrimination by contractor and sub-contractor doing business with the Federal Government or recipients of Federal funds. This order was later amended by Executive Order No. 11375 to prohibit discrimination on the basis of sex.
- Section 503 of the Rehabilitation Act of 1973 states:

The Contractor will not discriminate against any employee or applicant for employment because of physical or mental disability.

- Section 2012 of the Vietnam Era Veterans Readjustment Act of 1973 requires Affirmative Action on behalf of disabled veterans and veterans of the Vietnam Era by contractors having Federal contracts.
- Section 206(A) of Executive Order 12086, Consolidation of Contract Compliance Functions for Equal Employment Opportunity, states:

The Secretary of Labor may investigate the employment practices of any Government contractor or sub-contractor to determine whether or not the contractual provisions specified in Section 202 of this order have been violated.

The Lexington-Fayette Urban County Government practices Equal Opportunity in recruiting, hiring and promoting. It is the Government's intent to affirmatively provide employment opportunities for those individuals who have previously not been allowed to enter into the mainstream of society. Because of its importance to the local Government, this policy carries the full endorsement of the Mayor, Commissioners, Directors and all supervisory personnel. In following this commitment to Equal Employment Opportunity and because the Government is the benefactor of the Federal funds, it is both against the Urban County Government policy and Illegal for the Government to let contracts to companies which knowingly or unknowingly practice discrimination in their employment practices. Violation of the above mentioned ordinances may cause a contract to be canceled and the contractors may be declared ineligible for future consideration.

Please sign this statement in the appropriate space acknowledging that you have read and understand the provisions contained herein. Return this document as part of your application packet.

Bidders

I/We agree to comply with the Civil Rights Laws listed above that govern employment rights of minorities, women, veteran status, disability and age.

Signature

FKBSenvier Ll

- 13. Assignment of Contract: The selected bidder(s) shall not assign or subcontract any portion of the bid contract with LFUCG without the express written consent of LFUCG. Any purported assignment or subcontract in violation hereof shall be void. It is expressly acknowledged that LFUCG shall never be required or obligated to consent to any request for assignment or subcontract; and further that such refusal to consent can be for any or no reason, fully within the sole discretion of LFUCG.
- 14. No Waiver: No failure or delay by LFUCG in exercising any right, remedy, power or privilege hereunder, nor any single or partial exercise thereof, nor the exercise of any other right, remedy, power or privilege shall operate as a waiver hereof or thereof. No fallure or delay by LFUCG in exercising any right, remedy, power or privilege under or in respect of this bid proposal or bid contract shall affect the rights, remedies, powers or privileges of LFUCG hereunder or shall operate as a waiver thereof.
- 15. Authority to do Business: Each bidder must be authorized to do business under the laws of the Commonwealth of Kentucky and must be in good standing and have full legal capacity to provide the goods or services specified in the bid proposal. Each bidder must have all necessary right and lawful authority to submit the bid response and enter into the bid contract for the full term hereof including any necessary corporate or other action authorizing the bidder to submit the bid response and enter into this bid contract. If requested, the bidder will provide LFUCG with a copy of a corporate resolution authorizing this action and/or a letter from an attorney confirming that the proposer is authorized to do business in the Commonwealth of Kentucky. All bid responses must be signed by a duly authorized officer, agent or employee of the bidder.
- 16. Governing Law: This bid request and bid contract shall be governed by and construed in accordance with the laws of the Commonwealth of Kentucky. In the event of any proceedings regarding this matter, the bidder agrees that the venue shall be the Fayette County Circuit Court or the U.S. District Court for the Eastern District of Kentucky, Lexington Division and that the bidder expressly consents to personal jurisdiction and venue in such Court for the limited and sole purpose of proceedings relating to these matters or any rights or obligations arising thereunder.
- 17. Ability to Meet Obligations: Bidder affirmatively states that there are no actions, suits or proceedings of any kind pending against bidder or, to the knowledge of the bidder, threatened against the bidder before or by any court, governmental body or agency or other tribunal or authority which would, if adversely determined, have a materially adverse effect on the authority or ability of bidder to perform its obligations under this bid response or bid contract, or which question the legality, validity or enforceability hereof or thereof.
- 18. Bidder understands and agrees that its employees, agents, or subcontractors are not employees of LFUCG for any purpose whatsoever. Bidder is an independent contractor at all times related to the bid response or bid contract.
- 19. If any term or provision of this bid contract shall be found to be illegal or unenforceable, the remainder of the contract shall remain in full force and such term or provision shall be deemed stricken.

Signature

Date

2/1/17

ZKB SERVICES LLC.

115 MacARTHUR CT. NICHOLASVILLE, KY. 859-221-5183 / 859-885-4214 fax

zkboffice@gmail.com zkbservcies.com web site

References

City of Lexington, KY - Division Water Quality

124/138 Devonia – concrete sidewalk 170 Devonia – concrete sidewalks Town Branch – concrete slab

City of Lexington, KT - Division Streets and Roads

Versus locations - over 200 handicap ramps Morton House - concrete sidewalk

City of Lexington, KY - Division of Parks

Lansdown Park – concrete pads and asphalt pavement Idle Hour Park – concrete pad and asphalt pavement

Mimms Company Lexington, KY

Pandas Express

Burchfield & Thomas Lexington, KY

Alteck E. Maxwell – concrete sidewalk, slab and asphalt pavement Alteck Cat Nip Hill – concrete slabs and asphalt pavement

BID PROPOSAL SITE RESTORATION SERVICES

Bidders Name	BRIAT 12. Monral
Company Name	7KB Senvina Ll
Company Address	115 Mpc Arthur It Nich ly 4035's
Company Telephone	859. 221-5183

Applicable Certifications, Licenses and Qualifications: Attach separate sheets as required

Job References (5 Minimum): Attach separate sheets as required

Bid Note: Unit prices shall include all labor, equipment, and materials to provide paved and non-paved site restoration services per the contract specifications.

Bid Item	Unit Description	Unit	Approx. Quantity	Unit Price	Total Amount Bid
1	Saw Cut	LF	3,200	1.25	4000.06
2	Remove Materials	CY	120	16.00	1200.00
3	Granular Base (DGA)	CY	120	25.00	3000 66
4	Concrete Fill (Non-Finished)	CY	120	220.00	26,460.00
5	Flowable Fill	CY	120	200.00	24,000.00
6	Base Course	SF	6,400	2.75	17,600.00
7	Surface Course	SF	6,400	3.25	20,800.00
8	Milling	SF	6,400	3.00	19,200.00
9	Tack Coat Priming	SF	6,400	1.25	8000.cu
10	Rubberized Asphalt Joint Sealant	LF	3,200	2.75	880000
11	Concrete Sidewalk (Finished)	SF	1,600	7.50	12,000.00
12	Concrete Driveway (Finished)	SF	1,250	650	8125.00
13	Concrete Pavement (Finished)	SF	1,000	6.50	6500-01

14	Concrete Curb and Gutter (Finished)	LF	400	28.00	1/200.00
15	No. 57 Crushed Stone	CY	60	28.00	1680.0€
16	Class 2 Channel Lining	CY	50	3000	1500.00
17	Geogrid	SF	500	1.25	625.00
18	Geotextile Fabric	SF	500	.85	425.00
19	ROW Permit	EA	5	\$250.00	\$1,250.00
20	Lime	SY	350	1.50	525.00
21	Fertilizer	SY	350	1.50	525.00
22	Sod	SY	350	7.50	2625.00
23	Seed	SY	350	2.00	700.00
24	Straw	SY	350	2,00	700.00
25	Netting	SY	350	4.00	1400.00
26	Topsoil (Placed)	CY	80	55.00	4400.00
27	Silt Fence	LF	500	6.00	3000.00
28	Inlet Protection	EA	10	3.00,00	3000. cu
29	Mulch	CY	40	75'.00	3000.00
30	Stabilization Mat	SY	350	6.50	2275,00
	Tot	al Bid			198,455.00

Extra as directed by the Owner (to include both equipment and operator):

Bid Item	Unit Description	Unit	Approx. Quantity	Unit Price	Total Amount Bid
31	Dump Truck, Single Axle	HR	50	65,00	3250,00
32	Small Track Hoe, CAT 301.6C or equivalent	HR	50	20.00	4000.00
33	Skid-Steer Loader	HR	50	65.00	3250.00
	Т	10,500.00			